SR H i Ef BN RE R (ZF!D2)
(45 Fn 54 FEE A 1E A BAR)

Offa%
HA7:TH
X 4 HEt T 5 %A 12 A i E%E &t
. (145,311,698) (146,452,051)
U A = ’ ’ ’ ’
B Rt 143,272,607 1,140,353 144,412,960
. (72,313,500) (72,313,500)
N = ) ) ) )
5Bl = R 71,879,500 0 71,879,500
. . (68,518,000) (69,725,000)
O AN = ’ ’ ’ )
B = 68,518,000 1,207,000 69,725,000
- (286,143,198) (288,490,551)
it 283,670,107 2,341,353 286,017,460
X ( ) EXL, PR O EREE G AT BT AR T,
K TFTELVETRTHELDD,
ﬂXz: n+ﬂm@wg
1. EOSFSHEEMIE THEE 1S HHIE 855,399 T-H
BINNZRIZEEY F2E D i 608,398
Y E O ER DT80 BXTR X — O HEE 12,848 +H
NS | Z BT AGIGA R — LA FE D HEE 6,000 M
B FE A FE N 4 228,153 F
2. WyftiE it 3R o FE it 284,954 T-H
CHEF DONEE R 100,754 FH
R EE A, BERAY —E AR AL S
- % PEFA MM RS 5 e R R S B 4 40,000 F
« i) B i B AR AR Bh 4> 55,555 T
KBGO SR 45,647 +H
ENRBITEE, /N P
A B ORES AT 42,998 FM

(1~3H PFERpk 0 (% 156,763 T M) |
SEREHE B e W AT o Jis ok SR B R S PR AR A T 3E)




(

— R EF O FNE
BOH o B M)

HAT T
K i IE %A T A N R
- M BCE ELE (M BGR) 228,153
TR 4 228,153
(R IE#% 254 603,256 T-1)
S SAHEE R (TS B D E S |-5<VER) 37,600
RS SR B S H 5,400
i B PR SR A B 4 5,400
TATR— e RIIUE B A 10,200
i B PR SR A B 4 10,200
N EE R 1,900
i BB PR SR A B 4 1,900
FEOE LRI ZINBISE PR R 13,700
i BB B SR A B 4 13,700
TAT T B 6,400
2 0 B A 288,153 TR B SR B 4 6,400
AR — VB SNE (AR —YDFEL | -3<VFR) 21,900
FE A I E) 5 PRSI 400
o P SR B & 400
Hi DX AT i A P 5,000
i B PR SR A B 4 5,000
No—= T — i PEE R 700
o P SR B & 700
) [ P T 100
i BB PR SR A B 4 100
WA RB RS B T 5,700
i BB PR SR A B 4 5,700
BNT — b T ART ) — & BRI 10,000
i B B SR A B 4 10,000




BT

K i IE %A T A N R
- 7 RIE B SR (T R i HEERR) 500
(2% % %) MR 2 — 8 P 500
o P SR B &
- MUt LTS B 2 (e MEBORTR) 2,900
Mt ikt o 7 — T B 2 1,000
J\HT | KIEK, 2 gk 2 —EHE = R 1,000
o P SR B &
et 2 — B s R 1,900
i B PR SR A B 4 1,900
JEEFEE G SR (FEEEALER) 3,027
e T R L D — R S T A I B i e SR S A 4 227
PERR R 5k 3R A Bh 4 1,800
[[E2/3]
PR EE AL A HE T 1,000
i B PR SR A B 4 1,000
- 25 60 RECRIR Y — 2 (RAFITRER) 1,010
I — AR T ENE SR R 1,010
I — AR PO ENE S R SR 4
-NIRIBEREE (RER) 22,356
ONSLARTE IS B 4,400
PEBEE RS 13 RO I 5
BRNAAZ =T —alEAN
[E1/2, RtEak 4 4,150]
ENRBIT-BEZEb B RE X8 33,991
W v et i e A T N e Al B 4 30,882

[W2/3,

R A L ARG S HE 7 AV B RS 4 (TR 1) ]

i AR T M R AT o B R S 4R 4
T AR T MG R o e S 42

427

1,782

_3_




Hifr: T

&

M IE AR

= N

(3 B 4 %)

PERE RS Lk et Rl Bh 2
[FE2/3]
FASE Sy el 1 e A B 4
Yot i B R It S N B Al B 4

900

A 16,035

CHTR = 00917 A 70 A JEGAE e hs i 5 81 A= Bl s 22 4+ & (R 1E) ]

- MU T CSR L (LB ARKAR)
A2 L A L A
FE e B SR B 42
CEOARKARE B R
fiti % B S
o e B SR B 4
FECTIFIEGFEL
PR ERS L5 3R 0> FE i
BN ATEN
[FE1/2, )F@fkE e 100]
A SRR (RER, ZEbEER S —)
e L2 e A B S
PERR RS L5 3R 0> FE i
BN AT
[FE1/2, )F@EfkE e 850]
CEb R B
PERR RS L5 3R 0> FE i

b=

\

Re

IN—T— g 0N

[E1/2]

5,400
300
300
5,100
4,900
4,900

200

1,000

900

100

100

4 fy

4,700

HERE DDA (REREHIHERR)
AR B e A B o A

o e B SR B 4

4,700

4,700




BT

b7 i E = N OE
<RI A (RS 40,000
4 PE SRR RS e e SR B SR & 40,000
[

900

900

HhpE e (5264
TEOBRE AL R o 2 A

FE e B SR B 42
Jysafe stz e (P TR BER)

40,900/ -

B K PESERY
55,555

55,000

.(
T

il s BE AR RS 2L
32,000

1l B2 R A3 I PRaiE Al B 4
BN R P BRI 4
7RG L 55,555 YR — N 4 (REF e SRR (50 - SRR i B RO ) )
TR 2 TE 4 R e SR AT B 4 23,000
TR LR BR B I 4
YR — & 4 (REG e SRR (50 - SR Ak i BR RO ) )
555

291,000

L S
- TR I (B (G S A AR
96,000

SREHTIRA~ —PIC (RFR) B fif o5 5 %

ERE MEE 210m EE 14.5m
FEZ T L

\

[[E1/2]
195,000

BFERT - 2 LT 28 B R (i 6 2

EK R EE 120m TEE 15.5m

BRIR AT A E

)A

8 + K # 630,147 i)
[E1/2]

24 ER A 134,057

134,057

TERAHE ATHE

SR A

ERREImbERE
[%5.5/10]

HEOWE

_5_




HAT T

K i IE %A B ZAN N w
N[ kS <O By (N R HIEE)
NFRIERE R

45,200

45,200
e BHET, e B P AR
B E )

TR it
[E1/2]

NIRRT HERRE PR B (B T AR 21,749
NS SRS i Y
PRfE A
(8 + K &)

21,749
B SRS e okt SR S i 4 10,612
BRI S A S P i I SR SR & 11,137
- AT R i 2y (X BERR) 138,141
TR T 15 it X R L = S 138,141
b X P A B 4 84,510
o X PR A

53,631
Joieid (EdHEE 1/4)

TH% ER 130m
[[E1/3]
NP OMEE R (AR )

6,000
gL —2E

6,000
SN Y o — 2

ESANARYS: s RlE

[[E1/3]
10# "

\

HERBEREE CAHREER)
5 85,205 I RE S g

A 1,371
A 1,371
IR R B R 2R

A 1,005
R SR BB LTI 2L

[E1/2]

RS IR TR g

R SR ZCR L 2 ih B
[E1/2]

A\ 366

_6_




(10% 5 %)

%

fiIE AR

B

A

HAT T

o

\

ARt

AP BB TE BN (BB BURRR)
ST ORISR PRI B HetE 22
HHIEBFEL

PEREERS 1L % 3R D 32
R—TF—ra A
[E1/2]

VR E B A R (R
B F—E R R
FREE B SR B4

- TR AR B e SRy (VRIS ER)
NS T T B F R

PEREERS 1L % 3R D 2

BRNAATIEN

[E1/2]

B B 777 Y B0 i o R S48 4
MBS 1 555 B A Bh 4
[E2/3]

FELDLEIROE RRE (R

B,
FIAG R E R

Wit =i i o6 S PG BB RN R

SERHE B B WAl v kT R B PR SCER AR o S 2L

SR E 552N
sk Pz Bt A i B

1,140,353

R SR

44,369
“EAL S IR A B A A SR A )

*tg#E 5,280 A

98

98

700

700

4,609

2,030

2,579

159

2,420

75,169

30,800




(% A o B M)

B M
N i OIE % F AN K
ﬁ; 12 #1522 A Bl 689,542 - W3 A+ B
{,ag 21/ B & 52,823
— % M P FEE 742,365
HAr: M
K HOE R/
EFEERA SRR 1,200
PEREERY L ot SR 2
SR ERE E A 59,828
INNTARE TS PR 250
EANREIT REZCOEBHRE FER 600
EARERT RECCOEIEH TS (EEE) A\ 44,643
CHT =7 A )L A RYSE RF i M 5 Bl AE BRI 224 48)
FINLAHERDEE FEE CHREIE) A 16,035
CHT =7 A )L AR YSE RF i i 5 B AE BRI 224 482)
MU SR 100
ti%j THCTIFIREFELE
. 16 [EFEXHH4 192,065 - 95 L 12 2 100
i.j GHEE = 50
" 1 L R A B R o 50
RSN 122,000
BRI A~ — NC (RPR) #2362 42,000
AR T B R 80,000
SR BRET IR R 73,731
Ry
N - fk <0 2 22,600
N R MERRE B S S 2
T HI RS ff 2 28,170

A ) 1] o 8 b o R P o




BN FH

K WOIE B EU /IS I
BRI OHERE S, 2,000
V2 — 2 EEE
B RS FE R A\ 685
(16 ) st iR B R
TSP RCBUB TG B HE 2 49
T OERHISHR PR AE HeME T2y
JR A% R B e SR 2,628
R Y77 E R
fir SR R 75,525
L 17T R & 75,525
e ENRBIT-REZE S EHE IR E FHEE UIREE)
Bl 208 A & 5,100 - Ji J5UAE H: 5 e A 5,100
U cT-EHLDLERDOE I A 154,502
2 2 I A A 154,502
FRAR RN (IR 1E)
E A G SR 141,200
BT A~ —PIC (RFR) M F 42,200
R T 1 R i 86,400
23 & 279,800 A& 12,600
iR = 138,600
INEEREFE 25,500
HEL G o X R P o 2 113,100
FeoE MG 397,988
® AN At 1,140,353
(&% AT A DEBN) B T
M Y [ R OB %
BRI A ~ — RLC (RFR) H i o 3 DTG~ 590,000
(B KKZR-BRTHLE) ARNTHEE ’




(BB - Fe 1B 0)

HA7:TH
P IH ¥ A4 4
wEORR T OE E i F O 323,000
S o B % Kk #HF m b F ¥ 134,057
8 + K # B ol = 11,808
A6 TR 2 7N & # F % 102,100
] d% FE A Mt X ] B a2 135,000
OF( = AR S
HA7:TH
= i 4 fii 1IE %A = o N %
- P EE A 1,207,000
RSB Z Ny v R A NE 1,207,000
> R A=
@%’%f%?% 1,207,000 AV ¢ 300mm~ ¢ 2,000mm #EE3,211m
T¥EME 607,000
[ 44 B 4 600,000

_10_




